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Candidates are required to give their answers in their own words
as far as practicable.
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[English Version]
The figures in the margin indicate full marks.
1. Choose the correct option (any ten) :

(a) In what sense is ‘meaning’ used in the following sentence?
Smoke means fire

(i) cause (ii) effect
(i) indicator (iv) purpose.
(b) Which of the following words can be defined only ostensively?
(i) cat (i) table
(i) mountain (iv) red.

(c) ‘Father can be defined as male parent’— This definition is

(i) Real definition (i1) Definition by equivalent words

(ii)) Stipulative definition (iv) Lexical definition.
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(d) Dogs are animals— What type of characteristic is mentioned in the definition of *dog™?

(1) Defining (i1) Accompanying

(i) Universally accompanying

(iv) Accidental accompanying.
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(¢) Which one of the following is a defining characteristics?
(i) Triangle has three sides (i) Dogs are carnivorous
(ii) Birds live in the tree (iv) Man is honest.
(f) Which of the following are polar words?
(i) Black-white (it) Bread-Butter
(iii) Easy-hard (iv) Happy-sad.
(g) Which of the following words has meanings but does not have denotation?
(i) Sky-lotus (i) Woman
(iii) Cow (iv) None of these.
(h) The statement— yesterday number 5 died— is meaningless because it involves
(i) self-contradiction
(i) category mistake
(i) meaninglessness outside a given context
(iv) untranslatable metaphors.
(i) Which of the following is not a kind of ambiguity?
(i) Process-product (i) Type-Token
(iii) Category mistake (iv) Figurative language.
() Which of the following is a natural sign?
(i) Maps (ii) Traffic signals
(ii) Clouds (iv) All of them.
(k) Which of the following is syntactically wrong?
(i) Easy please to John is

(i) Maya is a singer

(ili) Plato was the discoverer of gold (iv) Man is a rational anima]

(I) The wall is white—
(i) The above statement is only verifiable
(1) The above statement is only confirmable

(i) The above statement is both veriliable and confirmable

(iv) The above statement is neither veri fiable nor confirmable
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Answer any five questions in brief - 545
(a) What do you understand by semantics? Explain briefly.
(b) Distinguish between stipulative and reportive definition with examples.
(¢) Distinguish with examples, between ambiguity and vagueness of words.

(d) Is a contradictory proposition meaningless? Give reasons for your answer.

(¢) How is a word related to its meaning?

(1) Distinguish between defining and accompanying characteristics.

¢) Explain the confirmability criterion of meaning.

(h) Analyse the meaning of the statement, ‘I shall survive my bodily death’.

Answer any two questions :

(a) Distinguish between verbal and ostensive definitions. Discuss the importance and limitations of

ostensive definition. 3+12
(b) Explain behavioural theory of word meaning. Is this theory acceptable? Discuss. 10+3
(c) Critically explain the verifiability criterion of meaning. 15

(d) (1) Why are the following words vague? Explain.
Happy, Game, Tall, Slow.

(i) What is the quorum feature of language? Explain. (2Vax4)+5



